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BS1002.5K—C3Z—100R158 C3/zZ 0 " 00 o -
BS1002.5K—C5T—100R158 C5/T 0.0055LF
BS1002.5K—C3Z—150R208 C3/Z 0 00 50 . 208
BS1002.5K—-C5T—150R208 C5/T 0.005LL°F
BS1002.5K—-C37-200R258 C3/Z 0 150 200 010 058
BS1002.5K—-C5T-200R258 C5/T 0.005LL°F
BS1002.5K-C37-250R308 C3/7 0 200 250 62 308
BS1002.5K-C5T—-250R308 C5/T 0.005LL°F
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Q" 30 4-04. 5 D-THR B o mm Series
SLIAL AFRE
=4 10
2= 2.5
e (‘jﬁ% LEA} Bt ¥el
, }(7?/ o2 A QH{AO|=
&2t A Top g
‘L ‘5 = X2 / BCD 15875/10.4
K LI & B 8.6
/ I il 1x3
%@ EY &M (T2A) MULTEMP PS2
23
=l mm
=4 =53 Y E23 2E M= J12"84dsts N
u N - cm H2O|sE 2AF b= S845ts Ca |H84sHE Coa
0.035 0.2~2.9 +0.008 0.008
0.040 — +0.018 0.018
0.040 0.2~2.9 +0.010 0.008
0.055 — +0.020 0.018
2150 3650
0.040 0.2~2.9 +0.010 0.008
0.055 — +0.020 0.018
0.040 0.2~2.9 +0.012 0.008
0.055 — +0.023 0.018
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L3
- Mg/ e LIAF = ZO|
S LA 3 22024 75 | Zalopia | SERE T E e
BS1202K—-C37—-85R154 C3/z 0 50 85 99 154
BS1202K—-C5T—85R154 C5/T 0.005LLF
BS1202K—C37-135R204 C3/7 0 100 - 49 -
BS1202K—-C5T—135R204 C5/T 0.005LLF
BS1202K—-C37—185R254 C3/7 0 50 185 199 254
BS1202K—C5T—185R254 C5/T 0.005LLF
BS1202K—-C37—235R304 C3/z 0 200 235 249 304
BS1202K-C5T—-235R304 C5/T 0.005LLF
BS1202K-C37—-285R354 C3/7 0 250 285 299 354
BS1202K—-C5T—285R354 Ch5/T 0.005LLF
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o 3 o 47 CD 4 6 D TH R E|_—|‘-(|)—| mm Series
20 0
ETNYVINEY
=4 12
2= 2
LtAF st val
Ol BiAl QHALO|R
&8 Yy H0p YA
= A& / BCD 1.2/12.3
! LA & 54 1.0
l %4 el e 1X3
"ete IR -
w E9| 935tF|(22|A) | MULTEMP PS2
23
=R mm
49 =58 ol E23 2le gk 71284sts N
u N - cm HEO|SE 2Af HE sHAs5ts Ca | HY4sots Coa
0.035 1.0 ~ 34 +0.008 0.008
0.040 - +0.018 0.018
0.040 1.0 ~ 3.4 +0.010 0.008
0.055 - +0.020 0.018
0.040 1.0 ~ 3.4 +0.010 0.008
1650 3550
0.055 - +0.020 0.018
0.040 1.0 ~ 3.4 +0.012 0.008
0.055 - +0.023 0.018
0.050 1.0 ~ 34 +0.012 0.008
0.065 - +0.023 0.018
—
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BS1202.5K—-C37—-110R180 C3/z 0 50 10 25 180
BS1202.5K—-C5T—-110R180 C5/T 0.005LLF
BS1202.5K—-C37—-160R230 C3/7 0 100 160 75 230
BS1202.5K—-C5T—-160R230 C5/T 0.005LLF
BS1202.5K-C3Z—210R280 C3/7 0 50 10 025 530
BS1202.5K-C5T—-210R280 C5/T 0.005LLF
BS1202.5K-C3Z—-260R330 C3/z 0 200 260 75 330
BS1202.5K-C5T—-260R330 C5/T 0.005LLF
BS1202.5K-C37—-310R380 C3/7 0 250 310 15 380
BS1202.5K—-C5T—-310R380 Ch5/T 0.005LLF

68



el - mm
LA AR
=4 12
2= 2.5
7& LA} Bt5E 5
| oflef el B ALO|=
{ i PN 0} A
o = X|2 / BCD 1.5875/12.4
F N NG LAt & 2 10.6
% TN 1x3
\\X/ v £ 2&x (a2 MULTEMP PS2
2H
el - mm
oo =58 oY EE23 2= S 72845t N
u N - cm H2O|sE 2AF b= S845ts Ca |H84sHE Coa
0.035 0.4~ 3.4 +0.010 0.008
0.040 — +0.020 0.018
0.040 0.4~ 3.4 +£0.010 0.008
0.055 — +0.020 0.018
0.040 0.4~ 3.4 +0.012 0.008
2350 4550
0.055 — +0.023 0.018
0.050 0.4~ 3.4 +0.012 0.008
0.065 — +0.023 0.018
0.050 0.4~ 3.4 +0.012 0.008
0.065 — +0.023 0.018
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22 L2 45
L3
; Mg/ =u}5 LIAL = 20|
=LA SiH S _ oo AERS
= Lt 2 =2a0{2A 7|5 | Za0jEA = T e &
BS1402K—C37—85R166 C3/7 0 - - - -
BS1402K—C5T—85R166 C5/T 0.005LLF
BS1402K—C37—135R216 C3/7 0 00 - 4 o
BS1402K—C5T—135R216 C5/T 0.005LLF
BS1402K—C37—185R266 C3/7 0 - . 99 -
BS1402K—C5T—185R266 C5/T 0.005LLF
BS1402K—C37-235R316 C3/z 0 500 _— " -
BS1402K—~C5T—235R316 C5/T 0.005LLF
BS1402K—C37—335R416 C3/7 0 200 _— 24 s
BS1402K—C5T—335R416 C5/T 0.005LLF
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SLIA AfSt
E2 14
= L= 2
LEA} Bt b
EER Qe ALO|=
S8 Y 20t A
= X|& / BCD 1.2/14.3
LIAL = 24 13.0
\ : X ol 1x3
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w O EQl 2X(azlA) MULTEMP PS2
20
=l mm
49 =58 ol E23 2E = 71284sts N
u N - cm HEO|SE 2Af HE sY45ts Ca |HEA5HE Coa
0.025 0.5~ 49 +0.008 0.008
0.040 - +0.018 0.018
0.030 0.5~ 49 +0.010 0.008
0.045 — +0.020 0.018
0.030 05~ 49 +0.010 0.008
1800 4300
0.045 - +0.020 0.018
0.040 0.5~49 +0.012 0.008
0.055 - +0.023 0.018
0.050 05~ 49 +0.013 0.010
0.060 - +0.025 0.020
[
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BS1404K-C37—-148R230 C3/Z 0
5 { 100 148 163 230
BS1404K—-C5T—148R230 Ch/T 0.005LL°F
BS1404K-C37—198R280 C3/7Z 0
150 198 213 280
BS1404K—-C5T—198R280 C5/T 0.005LL°F
BS1404K—-C37—248R330 C3/Z 0
200 248 263 330
BS1404K—-C5T—248R330 C5/T 0.005LL°F
BS1404K—-C37—348R430 C3/7 0
° f 300 348 363 430
BS1404K—-C5T—348R430 C5/T 0.005LL°F
BS1404K—-C37—-448R530 C3/7 0
400 448 463 530
BS1404K—-C5T—448R530 C5/T 0.005LL7F
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el mm Series
SLEAL ALY

=4 14

2= 4

LEA} Bt b

Ol Al QEHAO|=
a2t 2 TOF A
£ XI§ / BCD 2.3812/14.65
LIAL = 24 12.2
e el 1X3
EY &M (T2A) MULTEMP PS2
28
=l mm
a9 =58 oY E=23 2E = 71284sts N
u N - cm HEO|SE 2Af HE sY45ts Ca |HEA5HE Coa
0.030 1.0 ~ 6.9 +0.010 0.008
0.045 - +0.020 0.018
0.030 1.0 ~ 6.9 +0.010 0.008
0.045 - +0.020 0.018
0.040 1.0 ~ 6.9 +0.012 0.008
4800 9200
0.055 - +0.023 0.018
0.050 1.0 ~ 6.9 +0.013 0.010
0.060 - +0.025 0.020
0.055 1.0 ~ 6.9 +0.015 0.010
0.075 - +0.027 0.020
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BS1602K-C37—-139R221 C3/7 0
50 139 154 221 ——
BS1602K—-C5T—139R221 Ch/T 0.005LL°F
BS1602K—-C37—189R271 C3/7Z 0
100 189 204 271
BS1602K—-C5T—189R271 C5/T 0.005LL°F
BS1602K-C37—239R321 C3/Z 0
150 239 254 321 ——
BS1602K—-C5T—239R321 C5/T 0.005LL7F
BS1602K—-C37—289R371 C3/7 0
200 289 304 3711
BS1602K—-C5T—289R371 C5/T 0.005LL°F
BS1602K—-C37—389R471 C3/7 0
300 389 404 4711 —
BS1602K—-C5T—389R471 C5/T 0.005LL°F
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Mb X 1.0 = mm Series
( Oil hole ) 4-Oh. b D- ETRYVNT:
w £3 16
, o= 2
D X LEAL gt 5
L SN N JNGIES
I SN T oo v
in = X2 / BCD 1.2/16.3
EEE 15.0
: @y PETETPN 1x4
%g £9| 28x(12/4) | MULTEMP PS2
e o mm
=po| =58 oY E23 =|E osi 7|1284dstE N
u N - cm EolSE 24t b= =84ols Ca |88 4ol& Coa
0.030 0.5~4.9 +0.010 0.008
0.045 — +0.020 0.018
0.030 0.5~4.9 +0.010 0.008
0.045 — +0.020 0.018
0.040 0.5~4.9 +0.012 0.008
2500 7150
0.055 — +0.023 0.018
0.040 0.5~4.9 +0.012 0.008
0.055 — +0.023 0.018
0.050 0.5~4.9 +0.013 0.010
0.060 — +0.025 0.020
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BS0401PF—C37—64R105 C3/7 0 20 o o 05
BS0401PF—C5T—64R105 C5/T 0.0055LF
BS0401PF—C37—94R135 C3/7 0 0 o o5 -
BS0401PF—C5T—94R135 C5/T 0.005LLF
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Mol 552 ol E23 2|2 H= HAsl5 N
U HHO|=2F @K} HE a | 884st& Coa
0.025 +0.008 0.008 290
0.035 +0.018 0.018 580
0.035 +0.008 0.008 290
0.050 +0.018 0.018 580
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BSO0601PF-C37—-65R105 C3/7 0
40 65 75 105 |—
BSO0601PF—-C5T—65R105 Ch/T 0.005LLF
BS0601PF—C37—125R165 C3/7 0
100 125 135 165 —
BSO0601PF—C5T—125R165 C5/T 0.005LLF
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\ R Z20|E 24
= X2 / BCD 0.8/6.15
DD /% A = 23 5.2
A 2834 27X1
Ed SEH(azA) MULTEMP PS2
16
=2l mm
Z4o| B2 oler E23 2lc Y& R
u N - cm H2O|sE 2AF b= SHASHE Ca |H&EHstE Coa
0.025 ~13 +0.008 0.008 320 440
0.035 - +0.018 0.018 520 890
0.035 ~13 +0.010 0.008 320 440
0.050 - +0.020 0.018 520 890
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BS0801PF—-C37—-80R138 C3/7 0 40 80 92 138
BSO801PF—C5T—80R138 C5/T 0.005LLF
BSO801PF—C37—110R168 C3/7 0 0 1o (99 68
BS0801PF—C5T—110R168 C5/T 0.005LLF
BS0801PF—C37—140R198 C3/7 0 100 140 150 198
BS0801PF—C5T—140R198 C5/T 0.005LLF
BSO801PF-C37—190R248 C3/z 0 150 90 202 248
BS0801PF—-C5T—190R248 C5/T 0.005LLF
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20
2l mm
o= oY E23 == =l 712845t N
U N - cm HEO|SE 24} k= SHZ5E Ca | HHASE Coa
0.035 ~ 18 +0.008 0.008 370 590
0.050 - +0.018 0.018 590 1200
0.035 ~18 +0.010 0.008 370 590
0.050 — +0.020 0.018 590 1200
0.035 ~ 18 +0.010 0.008 370 590
0.050 = +0.020 0.018 590 1200
0.050 ~ 18 +0.010 0.008 370 590
0.065 - +0.020 0.018 590 1200
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BS0802PF—C37—110R168 C3/z 0 . 0 o o8
BS0802PF—C5T—110R168 C5/T 0.0055LF
BS0802PF—C3Z—140R198 C3/Z 0 00 0 o 08
BS0802PF-C5T—-140R198 C5/T 0.005LLF
BS0802PF—C37—190R248 C3/Z 0 0 0 - i
BS0802PF-C5T—-190R248 C5/T 0.005LLF
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SLEAF AIY
=7 8
== 2
LIAL e %]
oflet 4] EEES
SE g Z20/E 4]
= X|& / BCD 1.6875/8.3
LA = =3 6.5
e e e o
' ‘ ) ¢ 2EA(32lA) | MULTEMP PS2
22
=R mm
=dol =54 o =23 2lE = 71284sts N
U N - cm HEO|ISY 2%t HS Sd4sts Ca | d845tE Coa
0.035 ~ 2.0 +0.010 0.008 140 1430
0.050 - +0.020 0.018 1800 2850
0.035 ~ 2.0 +0.010 0.008 1140 1430
0.050 - +0.020 0.018 1800 2850
0.050 ~ 2.0 +0.010 0.008 140 1430
0.065 - +0.020 0.018 1800 2850
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= LA 3d selojaA 7|5 | Zelojga | S5FF [T B 3
BS1001PF-C3Z—-100R158 C3/z 0 50 101 - 158
BS1001PF-C5T—100R158 C5/T 0.005LL°F
BS1001PF—-C37—200R258 C3/7 0 50 201 210 553
BS1001PF—-C5T—200R258 C5/T 0.005LLF




A-O 4. HD THR =] mm
SLIAF ALY
=7 10
2= 1
LEA} Bf&F A
Oof 2 A QHALO|=
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SN X N\ Eo| @8H|(22/4) | MULTEMP PS2
27
TR mm
Mol 552 ol E23 2|2 H= 71284sts N
u N - cm H2O|sE 2AF b= SHASHE Ca |H&EHstE Coa
0.035 ~ 20 +0.010 0.008 400 750
0.040 - +0.020 0.018 650 1500
0.040 ~ 20 +0.012 0.008 400 750
0.055 - +0.023 0.018 650 1500
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BS1002PF-C37-100R158 C3/Z 0
50 101 12 158
BS1002PF—-C5T—100R158 C5/T 0.005LLF
BS1002PF—-C37—200R258 C3/7Z 0
150 201 212 258
BS1002PF—-C5T—200R258 C5/T 0.005LLF
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4-04. 5D THR ool - mm
SLIAL AT
=4 10
(ol = 2
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=plo =58 oY EE23 2|E He 712845t N
u N -cm EO0|SE AL = ¥ Aots Ca | HEASHS Coa
0.035 01~24 +0.010 0.008 1300 1900
0.040 — +0.020 0.018 2100 3800
0.040 01~24 +0.012 0.008 1300 1900
0.055 - +0.023 0.018 2100 3800
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BS1202PF-C37—-112R180 C3/z 0
50 112 125 180
BS1202PF—-C5T—112R180 C5/T 0.005LLF
BS1202PF—-C37—-212R280 C3/7 0
150 212 225 280
BS1202PF-C5T—212R280 C5/T 0.005LLF
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A-O4 HD THR ol - mm
LA AR
=4 12
2= 2
LEAL b3 A
Of| R Bhal R AO[E
2k g (0| E 24
2 X|2 / BCD 1.5875/12.3
LIAL & =34 10.5
w354 2.7x1
EQ| 23tx|(212]|A) MULTEMP PS2
28
=2l mm
Mo =54 oY E23 =S HAsts N
u N - cm HEO|SE At HE S4Z5tE Ca | HEAGHE Coa
0.035 0.4~ 34 +0.010 0.008 1450 2350
0.040 - +0.020 0.018 2300 4700
0.040 0.4 ~ 3.4 +0.012 0.008 1450 2350
0.055 - +0.023 0.018 2300 4700
|l - Z - K- B A - L - L C-R-E- - W
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BALLSCREW

K

Z

LO_ 1090.2
=
7|ga:0.010 i . 22 410 N —/|gasel
no S = o ]
B« S S| MBX1.0 =
A s RO.2 ® /7 ©
S =2 HEES = ©
=
C0. 5
C0. 5 “ 0 2
Co. 2 ‘ £0.5
wen BEREEn N : 9
el L 4| 8 27 10
9 L2 37
13
- e/ EXCIST3 LIAF = 20|
04 o O o
= Wit Bd 2ajojaiA 7|5 | Zalojgia | 2FEE [T B 3
BS0802AC—C3Z—110R168 C3/z 0 . 0 . o8
BSO802AC—C5T—110R168 C5/T 0.005LLF
BS0802AC—C37—140R198 C3/Z 0 00 0 o 08
BS0802AC—C5T—140R198 C5/T 0.005LLF
BS0802AC—C37—-190R248 C3/Z 0 0 0 . i
BS0802AC—C5T—190R248 C5/T 0.005LLF
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MEX 1.0

(Oil hole) TRl mm
A0’ 30 SLIA ALY
w == :
, 2= 2
A . A 2 &
o NG | e ollel Al YU
I ‘; 28 g EEE
TN )/ 2 xIE / BCD 1.5875/8.3
LAt = 2 6.5
; /%"’ !ijil¢o 2.5x%1
2/ EQl & (a22) MULTEMP PS2
50/6 54 4 A
e o mm
=po| =58 oY E23 2= J= 7|1284dstE N
u N - cm EolSE 24t b= S824sE Ca |HEHstE Coa
0.035 ~ 2.0 +0.010 0.008 1140 1430
0.050 - +0.020 0.018 1800 2850
0.035 ~ 2.0 +0.010 0.008 1140 1430
0.050 - +0.020 0.018 1800 2850
0.050 ~ 2.0 +0.010 0.008 1140 1430
0.065 - +0.020 0.018 1800 2850




L-S-C-R-E-W
T
X I xC} QA
HEMWOE ST 2AHE
| 10%2
s
EEXENn .
=
FARXTImEY ] > 25 10 RN ;
g < § 2 wexio 2
©O 0 RO. 2 = RO.2 @ 2
= A= e 2 T IE] = ©
=
‘ 0.5
£0.5, ﬁ Co. 2 —
Co. 2 | — £0.5
S i g
— BEXTRE
6.8601
; L] 5] 8 27 10
g L2 37
13
- e/ EXCIST3 LIAF = 20|
= LA S S _ oS AERST
FAY s2lofziA 73| Z2loEa = R 2 3
BS0804AC—C5T—151R210 C5/T 0.005LLF 100 151 164 210
BS0804AC—C5T—241R300 C5/T 0.005LLF 200 241 254 300
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MBX 1.0
(Oil hole) £Hel : mm
ELIAR AT
=4 8
2= 4
LEAL gt A
= VEIREIeN QUIAFO| =
& &3 dh4| T2 A
=2 X|Z2 / BCD 2.0/8.3
LA & =4 6.1
el b 2.5X1
= £ gEH(T2A) MULTEMP PS2
4-®4. 5D THR
®8C/B DP4.4
’ A
=2 - mm
=4Ho| SE2 ol E23 == sl 71284sts N
u N - cm HEO|ISEH 2t = SH45tE Ca | MY ZstE Coa
0.065 - +0.020 0.018
2400 3500
0.065 - +0.023 0.018
L-8S-C-R-E - W



BALLSCREW

K

Z

T x I xC} QA
HEMWIE ST AYUE
LO_ 1090.2
e
36
= P,
) = 26 10 N PRI
2 < < 2l wexio -
S ol Ro2 s RO.2 ® ©
A= S3 o8 © e = ©
’ = e, =
%@@ ‘
00. 5 “ 0. CO0.5
C0. 2 — £0.5
0. 8¢ ! 4 9
REYTHE
6_ 850.\
oo Tr
L] 51 8 27 0
9 E 37
L3
- e/ EXCIST3 LIAF = 20|
2 LA & S _ =k AEZ2S
FAY Selofei 75| B2lojEa = R 2 L3
BS0805AC—C5T—151R210 C5/T 0.0055LF 100 151 164 210
BS0805AC—C5T—241R300 C5/T 0.0055LF 200 241 254 300
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MEX 1.0
(Ol hole) =2 mm
SLIAF ALY
=7 8
=)= 5
LEA} BESF b
N Ol 2t BhA QHALO|=
ol . =8k JHA E- Al
o i
< 2 X|2 / BCD 2.0/8.3
@ ’ . LAl & 27 6.1
&J et 2.5%1
27 E X (a2lA) MULTEMP PS2
4-®4. 5D THR
®8C/B DP4.4 /Segs
=2l mm
=4lo| S5 o E23 2= M= 71284stEs N
U N - cm HHO|sZ @At Hs SH84ols Ca | HHAsHs Coa
0.065 - +0.020 0.018
2400 3500
0.065 - +0.023 0.018
B -A - L L-8-C-R-E-W



| -Z-K-B-A-L-L-S-C-R-E- W
L
X I xC} QA
EEIDE ST ANE
@_ 1090.2
-
”
8 D,
. > 26 10 RN A oo [a)
= < ) I I s =l Mexi1.0 -
I Y s RO.2 © 0
= s ol © i olat = ©
= =
” By | |
0.5 & “ L0.5
LU, Co. 2
Co. 2 [ — 0.5
oo = 4 9
0.8
6. 8¢
R L1 8|8 27 10
L2 37
L3
- e/ EXCIST3 LIAF = 20|
> o [eRe}
Sk Zaofzia sz | Zalol@a | S5RT T o [ 3
BSO808AA-CHT—-148R210 C5/T 0.005LLF 100 148 164 210
BSO808AA—CHT—238R300 Ch5/T 0.005LLF 200 238 254 300
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MBEX 1.0
(Oil hole) = mm
LA AP
=4 8
2= 8
LEAL BFSF A
NI Of| R BhAl QHAO[E
=R { | w2t gl FE A
=t !
£ XIE / BCD 2.0/8.3
@& LtAt & 24 6.
75 —
el b 1.5X1
e/ £9l @8tH|(12|A) | MULTEMP PS2
4-©4 5D THR
©BC/B DP4.4 AN
Series
el - mm
oo =58 oY EE23 2= S 72845t N
u N - cm HEO|SE 2Af HE sY45ts Ca |HEA5HE Coa
0.065 - +0.020 0.018
1550 2300
0.065 - +0.023 0.018
L-s-c-rR-E-wW 101



BALLSCREW

Z K

0. — 10%.2
AEl I T [ el
| 8 = s 2
% s RO. 2 = < R0 E S Oé
IS o1t a oret g
/7 . N
8/ /8 ‘ -4 |
£0.5 €0.5
0.2 | \ae NCO.5
0. 8¢ [ 4 g
; -
- \ B
C3:0.004
F L1 \| 8 27 10
9 L2 37
L3
- e/ Zdt5k LIAL = Z0]
= Lt e salofei~ 7| Zaloga | SEEF B 3
BS1002AC—-C3Z-101R158 C3/7 0 50 101 " 58
BS1002AC—-C5T—-101R158 C5/T 0.005LLF
BS1002AC—-C37—201R258 C3/7 0 50 201 015 o583
BS1002AC—-C5T—201R258 C5/T 0.005LLF
BS1002AC—-C3Z—251R308 C3/7 0 200 251 062 308
BS1002AC—-C5T—251R308 C5/T 0.005LLF
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MEX 1.0

(Ol hole) a Pl mm
090 E
i 2= 2
A@\\’; R LEAH B8 5
- = 0 — o IEIEN QH{AIO|=
@ T ] S g A TR
Nt b = X|2 / BCD 1.5875/10.3
‘ 2834 2.5x%1
c/ £ 2Ex(TzlA) MULTEMP PS2
4-®4.5D THR
©BC/B DP4 & JAN
Series
el - mm
Z4o 53 o E23 2= H= J1284sE N
U N -cm CHEO|ISE @At = SHZAstE Ca |HHZASHE Coa
0.035 0.1~ 24 +0.010 0.008 1300 1800
0.040 - +0.020 0.018 2000 3600
0.040 01~ 24 +0.012 0.008 1300 1800
0.055 — +0.023 0.018 2000 3600
0.040 01~ 24 +0.012 0.008 1300 1800
0.055 - +0.023 0.018 2000 3600
I
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BALLSCREW

Z K

£3:0.010 12%25
Saa g = rUsal] e
x| & Asmizez o) ;'c;» ,,,,,,, =, e g
C% S RO.2 = s FE 0 E e ‘%
= 0lat a i \/ P S =
gy
CO. b CO.5
CO. 2 A £0. 2 S
0. ¢ c3:0.008] | [T 5 10
N = -
15
F L1 510 30 5
10 L2 45
L3
- e/ EXCIST3 LIAF = 20|
04 o O o
= LA 2d SejofgiA sls | Zelojga | 25T [T E 3
BS1004AC—-C37—110R180 C3/z 0 50 10 25 180
BS1004AC—C5T—110R180 Ch5/T 0.005LLF
BS1004AC—-C37—210R280 C3/7 0 50 210 205 230
BS1004AC—-C5T—210R280 C5/T 0.005LLF
BS1004AC—-C3Z—310R380 C3/7 0 050 310 425 380
BS1004AC—-C5T—310R380 C5/T 0.005LLF
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MEX 1. 0

(Oil hole) A 30° =] mm
w =LA AN
/ =2 10
P o) o1 :
TN Sep3e LA 8} H
7 o
N g Of 2 Al QHAOIE
> : &3 oAl S5 g
2 X2 / BCD 2.000/10.3
ERNE) <2 LA & 22 8.2
7@ —
k oo =l R 2.5%1
cB E9| 28x(22]~) | MULTEMP PS2
4-®4 5D THR
®B8C/B DP4. 4 A
Series
=2l mm
=40 SE5E o E23 2|E HE 7l2d4dsts N
U N - cm HEO|=2F @K} He= EXZASE Ca |HEASIE Coa
0.035 0.5~ 39 +0.010 0.008 1700 2250
0.040 - +0.020 0.018 2750 4450
0.040 0.5~ 3.9 +0.012 0.008 1700 2250
0.055 — +0.023 0.018 2750 4450
0.050 0.5~ 3.9 +0.012 0.008 1700 2250
0.065 - +0.023 0.018 2750 4450
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BALLSCREW

Z K

£3:0.010 12% 25
C3:0. 008 sg - C3:0. 008
€5:0.011 A ‘;‘; 30 0 ; —{/ £5:0.011 A
e oi []s7zez [ 6] % iiiiiii ] 2
ol @ ~ B RO2 O MIOXI1.0 @
al ™ RO. 2 < © t T oot _ o)
= 0I5k a - = a
5725 <
C0.5 " N Co. 5 C0.5
£0.2 A £o. 2
o.¢8" e 5 10
R - a—
1A e
F L1 5] 10 30 15
10 L2 45
L3
- e/ Zdt5k LIAL = Z0]
= LA 2 Zajoj2A 7|5 | 2alojpa | BERT [T © 3
BS1005AC—C37—-110R180 C3/7 0
50 110 125 180
BS1005AC—C5T—110R180 C5/T 0.005LLF
BS1005AC—-C37—210R280 C3/7 0
150 210 225 280
BS1005AC—-C5T—210R280 C5/T 0.005LLF
BS1005AC—-C3Z2—-310R380 C3/7Z 0
250 310 325 380
BS1005AC—-C5T—-310R380 C5/T 0.005LLF
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MEX'1.0

(Oil hole) 3@’ 0
w =3
/qﬁk) 2=
AN ST o LIA} BE&F
N y mﬁ%t 54
N o\ &8 YAl
N TN = X& / BCD
@) \ *@@ LA & 2
/ ) &85
= S 2EH(T2A MULTEMP PS2
4-®4 5D THR
©8C/B
ENBIEEE olgf £E23 2le e
u N - cm H2O|sE 2AF b=
0.035 0.5~ 3.9 +0.010 0.008
0.040 - +0.020 0.018
0.040 05~ 39 +0.012 0.008
0.055 - +0.023 0.018
0.050 0.5~ 39 +0.012 0.008
0.065 - +0.023 0.018
- K- B




| - Z-K-B-A-L- L - C-R-E - -W
S
X I XL I
EEMOIE ST 2ANE
|esoon [ o . AL
E DE ZEEREIR % iiiiiii & 8
g i RO. 2 E Rgé? é MIOX 1.0 GLE
a olat e g
e!!' \/
C0. b " 00. 5 C0.5
00.2 4 €o.2
= EEH ok
1A |
F L1 5|10 30 15
10 L2 45
L3
- e/ EXCIST3 LIAF = 20|
= (=] ek
s HAEd Zaofeia sz | Balofda | S5FT T T 5 | s
BS1006AC—-C37—-170R240 C3/7 0
100 170 185 240
BS1006AC—C5T—170R240 Ch5/T 0.005LLF
BS1006AC—C3Z7—270R340 C3/7 0
200 270 285 340
BS1006AC—C5T—270R340 C5/T 0.005LLF
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MEX 1.0

(il hole) \ 4y 30° TRl mm
w ELIAT AT
, == 10
GE0 s :
7 NEA 8 LA} Biat %]
- N ; \ chg o o
N e PR SHALE
= ‘%/g &E g S5 gy
NN = X|E / BCD 2.000/10.3
. g <, A S =2 8.2
76\ —
B ets|e 2.5X1
o =9 28/(32/4) | MULTEMP PS2
4-d4 50 THR

®8C/B DP4 4

Series

=l mm
=4Ho| SE2 ol E23 2E HE 71284stE N
u N - cm H2O|sE 2AF b= SHAs5tE Ca | H™ASHE Coa
0.040 0.5~ 39 +0.010 0.008 1700 2250
0.055 — +0.020 0.018 2750 4400
0.050 0.5~ 39 +0.012 0.008 1700 2250
0.065 - +0.023 0.018 2750 4400
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BALLSCREW

K

Z

£3:0.010 12% 25
; [33.0. 008 A 0g - C3:0. 008
05:0.011 ;; 30 0 & —{/ 05001114
z| 8 sl . e B g
a olat RS by
| ]
@ 7 |
0.5 N C0. 5
C0. 2 A - £o. 2 o
0. 98" —__ 5 10
-
238
F L 7110 30 15
10 L2 45
L3
- e/ EXCIST3 LIAF = 20|
04 o O o
= LA 3 ZzjofaA 7z | ZaloEa | SEFE T > I3
BS1010AA—-C3/—-168R240 C3/z 0 100 68 185 240
BS1010AA—C5T—-168R240 Ch5/T 0.005LLF
BS1010AA—C37—268R340 C3/7 0 200 268 255 340
BS1010AA—-CH5T—268R340 Ch5/T 0.005LLF
BS1010AA—-C37—368R440 C3/7 0 300 368 385 440
BS1010AA—C5T—368R440 C5/T 0.005LLF
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MeX1.0

(©il hole) \ 4y 30° - el mm
= LPA ARSY
NE 2 = 10
«ﬁ\@ \\ . T 5
»& o2t A BENGES
S| T 5 EER S5 Y4
== = X2 / BCD 2.000/10.3
BRNE) o LA & 2 8.2
7 \\&6 &334 1.5X1
28 £ EH(TzlA) MULTEMP PS2
4-04.5D THR
®8C/B DP4. 4 A
el - mm
oo =58 oY EE23 2= S 72845t N
u N - cm EolSE 24t b= =84ols Ca |88 4ol& Coa
0.040 0.5 ~ 3.9 +0.010 0.008 1050 1400
0.055 - +0.020 0.018 1700 2750
0.050 0.5 ~ 39 +0.012 0.008 1050 1400
0.065 - +0.023 0.018 1700 2750
0.065 0.5 ~ 3.9 +0.013 0.010 1050 1400
0.080 - +0.025 0.020 1700 2750
l-Z-K-B-A-L-L-8s-C-R-E-W 111



BALLSCREW

K

Z

1290 25
7 E
L B Al el
£ 2 2 B 2
T oo ™ *? P
© : RO. 2 ~ =2 RO.;E o MIOX 1.0 ©
a g ol ; oI5t ; %
ﬁﬁlz\ -
TN Y
C0.5 . L£0.5
£o.2 0 gt 5 | 10 L5
| S Ve L [ =
7. 930 ‘ L E:g g?g BT C3:0. 004
RERE
B
Li 10 30 15
10 L2 45
L3
- e/ EXCIST3 LIAF = 20|
=LA} S (= _ S AERT
2 LAY Selofei 75| B2lojEa = R 2 L3
BS1202AC—-C37-112R180 C3/z 0
50 12 125 180 —
BS1202AC—C5T—-112R180 C5/T 0.005LLF
BS1202AC—-C372-212R280 C3/7 0
150 212 225 280 ——
BS1202AC—-C5T—-212R280 C5/T 0.005LLF
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MEX 1.0

(OH ho\e) E|._<I>_| mm
20 30°
w SLIA AP

, =8 12

ﬁ%() o 2= 2

RN A LIA et 5
N | Ol Al QHANO|=
- | &8 9 S gA
NTTEX S 2 X2 / BCD 1.5875/12.3

Eacclie 2.5X1
28 EY &M (T2A) MULTEMP PS2
4-94.5D THR
®8C/B DP4 4 A
Series
=l mm
a9 =58 oY E=23 2E Fe 7|284sts N
u N - cm H2O|sE 2AF b= sY45ts Ca |HEA5HE Coa
0.035 04 ~ 34 +0.010 0.008 1400 2200
0.040 - +0.020 0.018 2200 4350
0.040 0.4 ~ 3.4 +0.012 0.008 1400 2200
0.055 - +0.023 0.018 2200 4350
l-Z-K-B-A-L-L-8s-C-R-E-wW 1183
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BALLSCREW

Z K

T X IX =} QFA{ZX
EENO1E ST 2AHE
C3:0.010 129025
~ . ~
Aseati 2 [ 0 - e
o | RBo2 o s =k RO.2 2 /M ©
A _ i | it
|
C0.5 C0.5|\C0.5
CO. 2 —
C0. 2
60.1 (&)
e
I L1 10 30 15
10 L2 45
L3
- e/ EXCIST3 LIAF = 20|
2 LA} 3t = _ cS AERST
= LA 2d Zzjof2A 7z | Zal0lRiA = T E e
BS1204AC-C37—-110R180 C3/7 0
50 110 125 180
BS1204AC—-C5T—110R180 C5/T 0.005LLF
BS1204AC—-C37—210R280 C3/Z 0
150 210 225 280
BS1204AC—-C5T—210R280 C5/T 0.005LLF
BS1204AC—-C37-310R380 C3/Z 0
250 310 325 380
BS1204AC—-C5T—-310R380 C5/T 0.005LLF
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Mo X 1.0

(Oil hole) 300 30° =2 mm
w SUA A
) v =z e
(I 0 l= 4
7 2 KJ \\\ ?C)gb( _—
of Nea LPAF 28t 5
o L ‘ o2t &4 EEES
o = j a8 Al FE g
1 N = X2 / BCD 2.3812/12.3
Z
\ PSS 2.5%1
32 E9| 23tx(a2|A) | MULTEMP PS2
4- 4. 5D THR
®8C/B DP4. 4 A
Series
=2l mm
=Moo E5E o E23 2|E HE 7l2d4dsts N
U N - cm HEOISE Xt s S8dstEs Ca | d™Asts Coa
0.035 1.0 ~ 4.4 +0.010 0.008 2350 3200
0.040 - +0.020 0.018 3750 6350
0.040 1.0 ~ 4.4 +0.012 0.008 2350 3200
0.055 — +0.023 0.018 3750 6350
0.050 1.0 ~ 4.4 +0.012 0.008 2350 3200
0.065 - +0.023 0.018 3750 6350
I
l-Z-K-B-A-L-L-8s-C-R-E-W 115
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BALLSCREW

Z K

€370.010 @E
ey - 2 30 10 = o L L EEXCH
B2 Ro2 s Ro.2 o AMOXLO %
a G - N orat s g
= b
L£0.5, £0.5[\C0.5
C0.2 Lo-e
O' 950 1 C3:0. 008 I (&)
7. 9‘5“ 1
PEREL
' L1 10 30 15
10 L2 15
13
- e/ EXCIST3 LIAF = 20|
=2 LpA} S S _ oS AEZT
= el SajojzA 713 | 2ajojria = E ERE
BS1205AC—-C3Z2-110R180 C3/z 0
50 110 125 180
BS1205AC-C5T-110R180 C5/T 0.005LLF
BS1205AC—-C37-210R280 C3/Z 0
150 210 225 280
BS1205AC—-C5T—-210R280 C5/T 0.005LLF
BS1205AC—-C37—-310R380 C3/z 0
250 310 325 380
BS1205AC—-C5T—-310R380 Co/T 0.005LLF
BS1205AC—-C37—-410R480 C3/z 0
350 410 425 480
BS1205AC—C5T—-410R480 Co/T 0.005LLF
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Mo X 1.0

(Qil hole) A0 30° e
ﬁyw SLIAR AFRE
By @) 52 E
- ® = \;?Qym 2lc 5
o LEA} BEeF ¥el
< j e 4] EEIES
N o2 BAl FE g4
< = XI§ / BCD 2.3812/12.3
@\% LA & 23 98
37 &2t 2.5X1
£ 2EM(T2lA) MULTEMP PS2
586/8 Ped
A
ool s mm
=4 =53 o E23 2E M= 712845t N
u N - cm CHEO|SE 2Af = S8A%tE Ca | §HASHE Coa
0.035 1.0 ~ 4.4 +0.010 0.008 2350 3200
0.040 - +0.020 0.018 3750 6350
0.040 1.0 ~ 4.4 +0.012 0.008 2350 3200
0.055 — +0.023 0.018 3750 6350
0.050 1.0 ~ 4.4 +0.012 0.008 2350 3200
0.065 - +0.023 0.018 3750 6350
0.065 1.0 ~ 4.4 +0.015 0.010 2350 3200
0.080 - +0.027 0.020 3750 6350
l-Z-K-B-A-L-L-s-C-R-E-W 117 I
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BALLSCREW

Z K

1290 26

| oA 40 10 s —leeml
§ RO, 2 :é MIOX 1.0 ‘z;
ey 7] )
- =8 4 |
0.2 o2
o' 950 ‘ sowl | | ” ﬁ)
7. 960-‘
AR
I L1 10 30 15
10 L2 45
L3
- e/ Zdt5k LIAL = Z0]
= LA 2d Zajoj2A 7|5 | 2alojpa | BERT [T E B
BS1210AC—C3Z—210R280 C3/Z 0
150 210 225 280
BS1210AC—C5T—210R280 C5/T 0.0055LF
BS1210AC—C3Z7—310R380 C3/z 0
250 310 325 380
BS1210AC—C5T—310R380 C5/T 0.005LLF
BS1210AC—C3Z—410R480 C3/z 0
350 410 425 480
BS1210AC—C5T—410R480 C5/T 0.0058LF
BS1210AC—C3Z—510R580 C3/Z 0
450 510 525 580 |——
BS1210AC—C5T—510R580 C5/T 0.0054LF

118



MEX 1.0

(Oil hole) A 30° CHO  mm
w =0A Y
; =7 12
\/@\t) \ Q&Q == 19
/ R LA 28 5
o L : oilgt A BRI
N /‘ D EEEN
k N = X|Z / BCD 2.3812/12.5
(BN e LAt = 22 10.0
‘ il 2.5x1
32 £ SgH(a2lA) | MULTEMP LRL3
4-®4 5D THR
®8C/B DP4 4 ’A
el - mm
Zalo| =58 o E23 2= J= 7|1284dstE N
u N - cm H2O|sE 2AF b= S845ts Ca | H84sHE Coa
0.040 1.0 ~ 4.9 +0,012 0.008 2400 3150
0.055 - +0.023 0.018 3800 6300
0.050 1.0 ~ 4.9 +0.012 0.008 2400 3150
0.065 - +0,023 0.018 3800 6300
0.065 1.0 ~ 4.9 +0.015 0.010 2400 3150
0.080 - +0.027 0.020 3800 6300
0.070 1.0 ~ 4.9 +0.016 0.012 2400 3150
0.090 - +0.030 0.023 3800 6300
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L3
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= Lt 2 =2a0{2A 7|5 | Za0jEA = T e &
BS1220AA—C3/—207R280 C3/7 0
100 207 225 280
BS1220AA—-C5T—207R280 Ch5/T 0.005LLF
BS1220AA—-C37—307R380 C3/7 0
200 307 325 380
BS1220AA—C5T—307R380 C5/T 0.005LLF
BS1220AA—-C37—-407R480 C3/7 0
300 407 425 480
BS1220AA—-C5T—407R480 C5/T 0.005LLF
BS1220AA—-C37—-507R580 C3/7z 0
400 507 525 580
BS1220AA—-C5T—-507R580 C5/T 0.005LLF
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MEX 1.0

(Oil hole) 3@0

30 el mm
w LA AP
A @) ] =7 12
g NI \y 2= 20
-/ LIAL 2baF %]
< e j o A TN
< 2t g FE @4
@»‘":%0 = XI%_/ BCD 2.3812/12.5
: LIAF & =3 10.0
37 il 1.5X1
£ 8=M(T2/4A) | MULTEMP LRL3
580/ D4 S
=l mm
oo =58 oY EE23 2E Fe 7|284sts N
u N - cm H2O|sE 2AF b= SHAs5tE Ca | H™ASHE Coa
0.040 1.0 ~ 49 +0.012 0.008 1500 1750
0.055 - +0.023 0.018 2400 3500
0.050 1.0~ 49 +0.012 0.008 1500 1750
0.065 - +0.023 0.018 2400 3500
0.065 1.0 ~ 49 +0.015 0.010 1500 1750
0.080 - +0.027 0.020 2400 3500
0.070 1.0 ~ 49 +0.016 0.012 1500 1750
0.090 - +0.030 0.023 2400 3500
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22 L2 45
L3
- e/ EXCIST3 LIAF = 20|
ENTE= S _ S AE23
A Selof2ix 7|5 | 2el0f@a = E 2 | L3
BS1402AC—-C37-85R166 C3/z 0
50 85 99 166 —
BS1402AC—-C5T—-85R166 C5/T 0.005LLF
BS1402AC—C37-135R216 C3/7 0
100 135 149 216 ——
BS1402AC—C5T—-135R216 C5/T 0.005LLF
BS1402AC—-C37—235R316 C3/Z 0
200 235 249 36—
BS1402AC—-C5T—-235R316 C5/T 0.005LLF
BS1402AC—C37—-335R416 C3/7 0
300 335 349 416 @ —
BS1402AC—C5T—-335R416 C5/T 0.005LLF
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MEX 1.0

(Ol hole) 20 30° chel s mm
w EE
=4 14
Al } 0 Al 2
B LIA} et 5
L0 j ‘; ol A QHALO|X
“ &8 A S gy
K SN £ XI§ / BCD 1.5875/14.3
VOENE©) "% Lt é/% 12.2
il 2.5x1
= £ 2Ex(TzlA) MULTEMP PS2
4-®4. 5D THR
®8C/B DP4. 4
el - mm
=4 =53 Y E23 2E M= 7|284sts N
u N - cm H2O|sE 2AF b= S845ts Ca | H84sHE Coa
0.025 0.5~ 4.9 +0.008 0.008 1350 2400
0.040 - +0.018 0.018 2200 4800
0.030 0.5~ 4.9 +0.010 0.008 1350 2400
0.045 - +0.020 0.018 2200 4800
0.040 0.5~ 4.9 +0.012 0.008 1350 2400
0.055 - +0.023 0.018 2200 4800
0.050 0.5~ 4.9 +0.013 0.010 1350 2400
0.060 - +0.025 0.020 2200 4800
l-Z-K-B-A-L-L-8-C-R-E-W 123

A

Series



BALLSCREW

K

Z

1290.25
B 37 - _
S, I S UL
|50 012]* B O;: P el e
%E % S o |« e ?ﬁ? R N MI2X1.0 Z
= @ 015t o3l a =
a AsSs
iSY . L W 7/ 0@/ =
& @ 7 \
0.5 : i - co. 5| \C0-5
IC0. 2 1% C] 4
S s E 3 110 ]
- o5 [ReeldHT A
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Sk Zoofa 71z | Zelof@a | S5FT T T 2 | s
BS1404AC—-C37-148R230 C3/7 0 100 48 163 230
BS1404AC—-C5T—-148R230 C5/T 0.005LLF
BS1404AC—-C37—248R330 C3/7 0 200 248 63 330
BS1404AC—-C5T—248R330 C5/T 0.005LLF
BS1404AC—-C3Z—348R430 C3/7 0 300 348 163 430
BS1404AC—-C5T—348R430 C5/T 0.005LLF
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M6 X1.0

(0l hole) 20 30° S - mm
w EINGT
\ / =7 14
4@ @ o I 4
AN VB LA e =
o off 2 Al QHAO[=
- &3 A S8 g
oI/ = X|Z / BCD 2.3812/14.3
(GNNE e LA & 23 1.8
o (N &8t5|4 2.5x1
/ ” £0| 28x(22|A) | MULTEMP PS2
/4@ b.bhD THR
9 5C/B DP5 4
=l mm
=49 sE2 o E23 == == J1284sE N
u N - cm HEO|SE 2Af HE sY45ts Ca |HEA5HE Coa
0.030 1.0 ~ 6.9 +0.010 0.008 2550 3950
0.045 - +0.020 0.018 4050 7900
0.040 1.0 ~ 6.9 +0.012 0.008 2550 3950
0.055 - +0.023 0.018 4050 7900
0.050 1.0 ~ 6.9 +0.013 0.010 2550 3950
0.060 - +0.025 0.020 4050 7900
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Mcs ooz * [Asizaz]o] S S % o - .
EE ‘?E 2 = © 0 7 0.2 ol wiexto f
R iv 7 T
: il =t
C0.5 ‘ 0.5
CO. B3 A \M w0
Clase = & Lo
- L1 10 30 15
22 L2 45
L3
- e/ EXCIST3 LIAF = 20|
2 A} B < _ o AERT
FAY s2lofziA 73| Z2loEa = X 2 3
BS1405AC—-C37—189R27/1 C3/7 0
100 189 204 271
BS1405AC—-C5T—189R271 Ch5/T 0.005LLF
BS1405AC—-C37—239R321 C3/7 0
150 239 254 321
BS1405AC—-CHT—239R321 C5/T 0.005LLF
BS1405AC—-C37—339R421 C3/7Z 0
250 339 354 421
BS1405AC—-C5T—339R421 C5/T 0.005LLF
BS1405AC—-C37—-439R521 C3/z 0
350 439 454 521
BS1405AC—-C5T—439R521 C5/T 0.005LLF
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TANTEX | LB g4
- @ % = x%_/ BCD
NS> LIAt = =2
/ / w PETEPN
/ EQ & (azlA MULTEMP LRL3
4-®5 5D THR
©9.5C/B DP5. 4
mm
Zalo| =58 ot E23
u N - cm H2O|sE 2AF b= Coa
0.030 1.5 ~ 6.9 +0.010 0.008
0.045 - +0.020 0.018
0.040 15 ~ 6.9 +0.012 0.008
0.055 - +0.023 0.018
0.050 15 ~ 6.9 +0.013 0.010
0.060 - +0.025 0.020
0.055 15 ~ 6.9 +0.015 0.010
0.075 - +0.027 0.020
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BALLSCREW
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20 35 11 [ 0.0iz | 0.005 |E
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: 3 :
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ol o e = e -?- RS o S
A = 08 = VALY 0.8 =
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£0.5 C0.5
00. 53] lﬁ Co.2 s
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g {58! [L[ ooit [6} o005 [F]
Mo TF
Lt 10 30 15
22 L2 45
L3
- e/ Zut5k LIAL = 20|
= LIAL SH b _ S S AE
FAY 230jiA 75 | 220jRiA =3 2 3
BS1408AC—-C5Z—189R271 C5/7 0
100 189 204 271
BS1408AC—-CHT—189R271 C5/T 0.005LLF
BS1408AC—C57—239R321 Ch/7 0
150 239 254 321
BS1408AC—C5T—239R321 C5/T 0.005LLF
BS1408AC—-C57—289R371 Ch5/7Z 0
200 289 304 371
BS1408AC—C5T—289R371 Ch5/T 0.005LLF
BS1408AC—-C57—-339R421 Ch/7 0
250 339 354 421
BS1408AC—-C5T—339R421 C5/T 0.005LLF
BS1408AC—-C57—389R471 Ch5/7 0
300 389 404 471
BS1408AC—-C5T—389R471 Ch5/T 0.005LLF
BS1408AC—C5h7—-439R521 Ch/7 0
350 439 454 521
BS1408AC—-C5T—439R521 C5/T 0.005LLF
BS1408AC—-C57—489R571 Ch/7Z 0
400 489 504 571
BS1408AC—-CHT—489R571 Ch5/T 0.005LLF
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MEX 1.0

(Oil hole) A0 é% crel : mm
=LEAR AR
A @) . =2 14
NG T e 2= 8
il %/ LIAT 28t -
© : j oll 2t EhAl QHALO|=
NN &8t Sy
T 2=\ = X2 / BCD 3.175/14
CRNG)Y 5 / /
S B LI = A 1.2
’ / ” &85 2.5X1
/ £ EA(22lA) MULTEMP LRL3
4-®5.5D THR
©9.5C/B DP5. 4
= mm
=40l =58 ol E23 2= H: 7l284sts N
L N - cm HEO|sE QAL HS S84ols Ca | HA84Hsts Coa
15~ 78 4300 5950
0.045 +0.020 0.018
- 6800 11900
15~ 78 4300 5950
0.055 +0.023 0.018
—~ 6800 11900
15~ 78 4300 5950
0.055 +0.023 0.018
- 6800 11900
15~ 78 4300 5950
0.060 +0.025 0.020
- 6800 11900
15~ 7.8 4300 5950
0.060 +0.025 0.020
- 6800 11900
15~ 78 4300 5950
0.075 +0.027 0.020
- 6800 11900
15~ 7.8 4300 5950
0.075 +0.027 0.020
- 6800 11900
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12%. 25
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= 8| Hu=ed 2 % = :
o P R2 o s RO.2 T Mizx10 £
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@v% < W
0.5 A | Co. 2 £0. 5| \LC0.5
£0.5 " 10|
9. 158!
F L1 10 30 15
22 L2 45
L3
- e/ Zdt5k LIAL = Z0]
= e gaofeia ss| Baolaa | 255 T 5 | s
BS1504AC—-C3Z2—-189R271 C3/z 0
100 189 204 2 —
BS1504AC—-C5T—189R271 C5/T 0.005LL°F
BS1504AC—-C37—239R321 C3/7Z 0
150 239 254 321 ——
BS1504AC—-C5T—239R321 C5/T 0.005LL°F
BS1504AC—C37—-339R421 C3/7 0
250 339 354 421 ——
BS1504AC—-C5T—-339R421 C5/T 0.005LL7F
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MEX 1.0 ool mm
(O hole) 30~ 30 SLIAF A
é\? =2 15
/<m_%%\ &’5 ElE 4
JAS GRS y LIAF 5 5
ol \
—| ) off 2 A QHALO|=
S| ;‘ &3 A ETSTN
N\ = 1|2 / BCD 2.3812/15.3
’ LIAt = ZA 12.8
\"7_ @ i A SL= AO
K N 6(\5\ I%Q|T 2.5><1
/ 3P £l (22| A) MULTEMP LRL3
/4 @©5. bD THR
®9.5C/B DPH 4
=R mm
49 =58 ol E23 2E = 71284sts N
U N - cm HEO|=2F @K} He= EXZASE Ca |HEASIE Coa
0.030 1.0 ~ 5.0 +0.010 0.008 2800 3900
0.045 - +0.020 0.018 4450 7850
0.040 1.0 ~ 5.0 +0.012 0.008 2800 3900
0.055 - +0.023 0.018 4450 7850
0.050 1.0 ~ 5.0 +0.013 0.010 2800 3900
0.060 - +0.025 0.020 4450 7850
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£0.5
£o. 2 £0. 5] \CO. 5
C0.5 R 10
g. 158 [Heeene]
F Li 10 30 15
22 L2 45
L3
- Mg/ e LiAt = 20
S LA ZojojaiA s | Zalojgia | BEEF T 2 3
BS1505AC—C3Z-189R271 C3/7 0 00 - o -
BS1505AC—C5T—189R271 C5/T 0.0055LF
BS1505AC—C3Z—-239R321 C3/z 0 50 . - .
BS1505AC—C5T—239R321 C5/T 0.0055LF
BS1505AC—-C37—-339R421 C3/7Z 0 050 339 354 421
BS1505AC—-C5T—339R421 C5/T 0.005LLF
BS1505AC—-C37—-439R521 C3/z 0 350 439 454 501
BS1505AC—-CH5T—439R521 C5/T 0.005LLF
BS1505AC—-C3/—-539R621 C3/7 0 450 539 654 621
BS1505AC—-C5T—-539R621 Ch5/T 0.005LLF
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MEX 1.0
(Ol hole)

A0 30° e o mm
w EE
EE—. =4 15
AN @) o o= 5
< S [y LEAL 25t 5
o i ‘; o2t 4| IS
» &8 94 52 g4
NN = %12 / BCD 3.175/15.5
B & %) LA = =2 12.2
' \ &334 2.5x1
34 9| 25x(Q22]A) | MULTEMP LRL3
/ 4-®5 5D THR
©9.5C/B DPb. 4
el - mm
=po| =58 oY E23 =|E osi 71284sts N
u N - cm EolSE 24t b= =84ols Ca |88 4ol& Coa
0.030 15 ~ 6.0 +0.010 0.008 4450 6300
0.045 - +0.020 0.018 7100 12800
0.040 15 ~ 6.0 +0.012 0.008 4450 6300
0.055 - +0.023 0.018 7100 12800
0.050 15 ~ 6.0 +0.013 0.010 4450 6300
0.060 - +0.025 0.020 7100 12800
0.055 15 ~ 6.0 +0.015 0.010 4450 6300
0.075 - +0.027 0.020 7100 12800
0.055 15 ~ 6.0 +0.016 0.012 4450 6300
0.075 - +0.030 0.023 7100 12800
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e ;: [As7zaz]c} § ,,ﬁ = Dé
TP Rz oo s| | el Ro.2 | wigxio £
S = S i Ei S =
7 ) A N
C0.5
co.2 0.5 \CO.5
v\ G —
M 1 1660.“‘ (&
9. 1550 Moo e -
'
(L[ 0.005 F L1 510 30 15
22 L2 45
L3
- e/ Zut5k LIAL = 20|
04 o [®@Ne)
= LAl e selofeia 7|5 | 2alojgia | SEET [T B B
BS1510AC—-C57—189R271 Cb/Z 0 100 189 204 71
BS1510AC—-C5T—189R271 C5/T 0.005LLF
BS1510AC—-C57—239R321 C5/7 0 50 239 254 301
BS1510AC—-C5T—-239R321 C5/T 0.005LLF
BS1510AC—C57—289R371 C5/7 0 200 239 304 371
BS1510AC—-C5T—289R371 C5/T 0.005LLF
BS1510AC—C57—339R421 Cb/7 0 550 2339 354 151
BS1510AC—-C5T—339R421 C5/T 0.005LLF
BS1510AC—C57—389R471 Ch/Z 0 300 189 404 471
BS1510AC—-C5T—389R471 Co/T 0.005LLF
BS1510AC—C57—439R521 C5/7 0 350 439 454 521
BS1510AC—-C5T—-439R521 C5/T 0.005LLF
BS1510AC—-C57—489R571 C5/7 0 400 489 504 571
BS1510AC—-C5T—489R571 C5/T 0.005LLF
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MEX 1.0

(Oil hole) A0 30° crel - mm
>y N
=4 15
Ay @) .
IR \ ?COA 2= 10
-/ o LEAL BEE el
3 | ol A EXNES
| a8 gy EEPTA
2 X|2 / BCD 3.175/15.5
LI = 22 12.2
e el 2.5X1
£ &=M(32lA) | MULTEMP LRL3
4-®5.5D THR
®39. 5C/B DP5. 4
el mm
Selo E5E oY E23 2l e 71284sts N
. ARG hEolSY @At Hs SX75l% Ca | HHZAIE Coa
15~ 78 4450 6300
0.045 +0.020 0.018
- 7100 12800
15 ~78 4450 6300
0.055 +0.023 0.018
- 7100 12800
15~ 78 4450 6300
0.055 +0.023 0.018
- 7100 12800
15~78 4450 6300
0.060 +0.025 0.020
- 7100 12800
15~ 78 4450 6300
0.060 +0.025 0.020
- 7100 12800
15~78 4450 6300
0.075 +0.027 0.020
- 7100 12800
15~78 4450 6300
0.075 +0.027 0.020
- 7100 12800
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9. 1530\ Mool -
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[L[0. 005 [F L1 5110 30 15
22 L2 45
L3
- bsi=y; EXCIST LIAt = 20|
= e ZaofaA sls | Zaloia | PSR T o [ s
BS1510AC—-C57—539R621 C5h/7Z 0 450 539 554 621
BS1510AC—-C5T—539R621 C5/T 0.005LL7F
BS1510AC—-C57—-589R671 Ch/7Z 0 500 539 604 671
BS1510AC-C5T—-589R671 C5/T 0.005LL7F
BS1510AC—-C57—-639R721 C5/7 0 550 639 654 791
BS1510AC—-C5T—-639R721 C5/T 0.005LLF
BS1510AC—-C57Z—-689R771 C5/7 0 600 689 204 771
BS1510AC-C5T—689R771 C5/T 0.005LL°F
BS1510AC—-C57—789R871 Ch/7Z 0 200 789 504 871
BS1510AC—-C5T—789R871 C5/T 0.005LL°F
BS1510AC—-C57—-889R971 Ch/7Z 0 800 889 904 971
BS1510AC—-C5T—889R971 C5/T 0.005LL°F
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MEX 1.0

(Oil hale)

3@ 300 = mm
ZLIAR AFY
=3 15
/< @\f\ \ 2= 10
"X X @3&6
~ N LpAt ra 5
of 4 'x ol tal QU AfO|=
T ER 52 g4
N N4 = X|Z / BCD 3.175/156.5
@%) A S =2 2.2
’ / ' o[ 2.5%1
34 £9| @str(12|A) | MULTEMP LRL3
/4* ®h.bD THR
©9.5C/B DP5. 4 AN
Series
=2 mm
=plo| =58 oy E23 2E F 7|1284dsts N
u N - cm EolsE 24t Fl= S™AstE Ca | ¥™HotE Coa
15~ 78 4450 6300
0.075 +0.030 0.023
- 7100 12800
15~78 4450 6300
0.090 +0.030 0.023
- 7100 12800
15~78 4450 6300
0.090 +0.035 0.025
- 7100 12800
15~78 4450 6300
0.090 +0.035 0.025
= 7100 12800
15~78 4450 6300
0.120 +0.035 0.025
- 7100 12800
15~78 4450 6300
0.120 +0.040 0.027
- 7100 12800
.
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BALLSCREW
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12%. 25
54 j
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& l \ ]
— ﬁ) Y -
C0.5 00,2 £o 5 \C0.5
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:
(L[ 0.005 [F L1 10 30 15
22 L2 45
L3
- e/ EXCIST3 LIAF = 20|
LIAL S i — N AEZ3
A S2lojaiA 7|5 | ZalolEia = X 2 3
BS1515AA—-C5Z/—289R371 Ch/7 0
200 289 304 371
BS1515AA—-C5T—289R371 Ch5/T 0.005LLF
BS1515AA—-C57—389R471 Ch/7 0
300 389 404 471
BS1515AA—-C5T—389R471 C5/T 0.005LLF
BS1515AA—-C57—-489R571 C5/7 0
400 489 504 571
BS1515AA-C5T—489R571 C5/T 0.005LLF
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MEX 1.0
(Oil hole) 300 300 H_?_l mm
3 ETRYVVCT
=4 15
AN @) < :
P AL C@x% 1= 5
~ i L] 5
i ) FAF BESE bt
g | ol 2] IS
=X 28 S8 g
g 2 X2 / BCD 3.175/15.75
@\%) LIAF = 24 12.4
/ PPN 15x1
34 EQ RH(azlA) MULTEMP LRL3
/ 4-®5. 5D THR
®9.5C/B DPG. 4
cre)
=40 SE5E o E23 2|E HE 7l2d4dsts N
U N - cm HEOISE Xt s S84dstEs Ca |d™Asts Coa
15~ 78 3450 4750
0.055 +0.023 0.018
- 4550 7700
15~ 78 3450 4750
0.060 +0.025 0.020
- 4550 7700
15~ 78 3450 4750
0.075 +0.027 0.020
—~ 4550 7700
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_ MNe/ e, LIAL = 20|
o3| (=} - o
= Lt 3 salofaiA sls | Zalolaia | 2ERE T B 3
BS1520AA—-C57—-189R271 C5/7 0 100 189 04 o7
1
BS1520AA—-C5T—189R271 C5/T 0.005LLF
BS1520AA—-C57—-239R321 C5/7 0 50 239 254 31
BS1520AA—-C5T—239R321 C5/T 0.005LLF
BS1520AA—-C57—289R371 C5/7 0 200 589 304 371
!
BS1520AA—-C5T—289R371 C5/T 0.005LLF
BS1520AA—-C57—-339R421 Cs/7 0 250 339 354 41
BS1520AA—C5T—-339R421 C5/T 0.005LLF
BS1520AA—-C57—-389R471 C5/7 0 300 339 404
471
BS1520AA—-C5T—-389R471 C5/T 0.005LLF
BS1520AA—-C57—-439R521 C5/7 0 350 439 454 o
5
BS1520AA—-C5T—439R521 C5/T 0.005LLF
BS1520AA—-C57—489R571 Cb/7 0 400 489 504 571
BS1520AA—-C5T—489R571 C5/T 0.005LLF
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MEX 1.0
{0il hole)

20 30° SHel : mm
w ETHYUEY
N =z 15
a(s ) \ e 2l 20
/ e LPAF 5
2 i '; Ol Qf B4 QA=
'« a8 g FH A
Nl ' £ X|2 / BCD 3.175/15.75
@-- @%) LAt £ 23 12.4
/ PPN 15x1
34 EQ RH(azlA) MULTEMP LRL3
/ 4-®5 5D THR
©9.5C/B DP5.4
=Rl mm
Z4po| EEE g E=23 2E H= 712845t N
u N - cm HEOISE Xt B S84dstE Ca | d84ots Coa
15~ 78 3450 4750
0.045 +0.020 0.018
- 4550 7700
15~78 3450 4750
0.055 +0.023 0.018
- 4550 7700
15~ 78 3450 4750
0.055 +0.023 0.018
- 4550 7700
15~78 3450 4750
0.060 +0.025 0.020
- 4550 7700
15~ 78 3450 4750
0.060 +0.025 0.020
- 4550 7700
15~78 3450 4750
0.075 +0.027 0.020
- 4550 7700
15~ 78 3450 4750
0.075 +0.027 0.020
- 4550 7700
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g9 1550.1 oo e
'
[loom [F Lt 10 30 15
22 L2 45
L3
- bsi=y; EXCIST LIAt = 20|
= LA Zojoj2iA s|a | 2alojpia | BEEE [T 2 3
BS1520AA—C57—539R621 C5/7 0 450 - - o
BS1520AA—C5T—-539R621 C5/T 0.005LLF
BS1520AA—C57-589R671 C5/7 0 . 50 sou -
BS1520AA—C5T—-589R671 C5/T 0.005LLF
BS1520AA—C57—639R721 C5/Z 0 oo - - .
BS1520AA-C5T—639R721 C5/T 0.00564F
BS1520AA—-C5Z7—689R771 Ch/7 0 6500 689 204 771
BS1520AA—-C5T—689R771 C5/T 0.005LLF
BS1520AA—C57—789R871 Ch/7 0 200 789 504 871
BS1520AA—-C5T—789R871 C5/T 0.005LLF
BS1520AA—-C57—889R971 Ch5/7 0 800 889 904 971
BS1520AA—-C5T—889R971 C5/T 0.005LLF
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MEX 1.0

(Oil hole) 50 30 =2 mm
w SUIAL AN
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A «’\ D \ Cg&g = 20
~ e LEA} 3t &
o / oll2 hal QHAO|=
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@ —%) LHt & 2 2.4
’ / ' 238t5|4 15x1
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®9.5C/B DP5. 4 AN
Series
T2l mm
=40l SE2 o E23 2= A 7l2d4dsts N
U N -cm HEOISE Xt B S84dstE Ca | d84ots Coa
15~ 78 3450 4750
0.075 +0.030 0.023
- 4550 7700
15~ 7.8 3450 4750
0.090 +0.030 0.023
- 4550 7700
15 ~ 7.8 3450 4750
0.090 +0.035 0.025
- 4550 7700
15 ~ 7.8 3450 4750
0.090 +0.035 0.025
- 4550 7700
15~ 78 3450 4750
0.120 +0.035 0.025
- 4550 7700
15~ 7.8 3450 4750
0.120 +0.040 0.027
- 4550 7700
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B /50 0is 37 éAAT
F o E
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I PN s el Ro.2 | miex1o £
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0.5 T s L10,]
!EEEEEF L1 10 30 15
22 L2 45
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2 LA} g < _ == AERT
AL S2lojaiA 7|5 | ZalolEia = X 2 3
BS1604AC—-C37—-189R271 C3/7 0
100 189 204 271
BS1604AC—C5T—189R271 Ch5/T 0.005LLF
BS1604AC—C37Z—289R371 C3/7 0
200 289 304 371
BS1604AC—-C5T—289R371 C5/T 0.005LLF
BS1604AC—-C37—389R471 C3/7 0
300 389 404 471
BS1604AC—-C5T—389R471 C5/T 0.005LLF
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MEX'1.0
(0il hole)

e\ : el - mm
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[ i | 02 Al QH{ALO|=
N\ N EEEIR
@ o, = x%_/ BCD 2.3812/16.3
X7 2% LA & 27 13.8
/ 36 il 2.5x1
/ 9| @5(22|A) | MULTEMP LRL3
-5 552 2=
®9.5C/B DP5. 4
el - mm
oo =58 oY EE23 2= S 72845t N
u N - cm H2O|sE 2AF b= S845ts Ca | H84sHE Coa
0.030 1.0 ~ 5.0 +0.010 0.008 2650 4400
0.045 - +0.020 0.018 4200 8800
0.040 1.0 ~ 5.0 +0.012 0.008 2650 4400
0.055 - +0.023 0.018 4200 8800
0.050 1.0 ~ 5.0 +0.013 0.010 2650 4400
0.060 - +0.025 0.020 4200 8800
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22
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3; Oi < 577 RO. 2 Zé MI2X 1. Q %
al = . g = a
8/ /8 N |
C0.5 = , A B £O. 2 B 0.5 0.5
: 0.2 C0. 5|
M 1 ] 1 5$0 14 (&
9. 1560‘ ca-0.008[ | T - €3 0 004
F L1 10 30 15
22 L2 45
L3
_ Mg/ e LA = 20|
& LA 3 Zajoj2A 7|5 | 2alojpa | BERT [T E 3
BS1605AC—C3Z—189R271 C3/z 0 00 0 - -
BS1605AC—-C5T—189R271 Ch5/T 0.005LLF
BS1605AC—-C37—289R371 C3/7 0 200 289 304 371
BS1605AC—-C5T—289R371 C5/T 0.005LLF
BS1605AC—-C37—389R471 C3/7Z 0 300 389 404 471
BS1605AC—-C5T—389R471 C5/T 0.005LLF
BS1605AC—-C37—-489R571 C3/z 0 400 489 504 571
BS1605AC—-C5T—489R571 C5/T 0.005LLF
BS1605AC—-C3/—689R771 C3/7 0 500 689 204 771
BS1605AC—C5T—689R771 Ch5/T 0.005LLF
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MEX 1.0

el - mm
(il hole) o 300
L % =LA A
\ , =8 16
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N v o2 HAl QHALO|=E
2 ;‘ &8 A S5 A
‘e /" = =
N / = ﬂm—/ BC4D 3.175/16.5
L > LIAF = =24 13.2
§ o
N@ &84 2.5x1
/ .0 £9 28H(22/A) | MULTEMP LRL3
/4@ 5.5D THR
®9.5C/B DP5. 4
=l mm
49 =58 ol E23 2E = 71284sts N
u N - cm HEO|SE 2Af HE sY45ts Ca |HEA5HE Coa
0.030 1.5 ~78 +0.010 0.008 4650 6850
0.045 - +0.020 0.018 7350 13700
0.040 15~78 +0.012 0.008 4650 6850
0.055 - +0.023 0.018 7350 13700
0.050 15~78 +0.013 0.010 4650 6850
0.060 - +0.025 0.020 7350 13700
0.055 1.6 ~78 +0.015 0.010 4650 6850
0.075 - +0.027 0.020 7350 13700
0.070 15~78 +0.018 0.013 4650 6850
0.090 - +0.035 0.025 7350 13700
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EEIOE ST AEE
1290 2%
[o] 0.015 ] -
% 14 12 =
© wA o
S D;D s e RO.2 | M12x 1.0 og
a IS S —
7 ] ]
] Y -
0.5
L0. 9, \C0. ? C0. 5] \CO0.5
£0.5 +0.14 10
st =~
9. 158" T
L1 10 30 5
22 L2 45
L3
- e/ Zdt5k LIAL = Z0]
= LA 2 Zajoj2A 7|5 | 2alojpa | BERT [T © &
BS1616AA—C57—189R271 C5/Z 0 00 . o -
BS1616AA—CH5T—189R271 Ch5/T 0.005LLF
BS1616 AA—C57—289R371 Ch/7 0 200 239 304 371
BS1616 AA—CH5T—289R371 C5/T 0.005LLF
BS1616AA—C57/—389R471 Ch5/7 0 300 189 404 471
BS1616AA—C5T—389R471 C5/T 0.005LLF
BS1616 AA—C57—489R571 Ch/7 0 400 489 504 571
BS1616 AA—C5T—489R571 C5/T 0.005LLF
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MEX 1.0

(Oil hole) . = mm
S ERE
w =7 G
Nl 2 =
a\(cints N2 = ©
Y y LEAL et 5
=/ \ ofef GrAl EPYIES
3 - | Sgt g EEPIN
NS £ X2 / BCD 3.175/16.5
Iy ) LIAE =2 13.2
%4
&) —&) PETER 15x1
/ 34 £ol @3g(12|A) | MULTEMP LRL3
/4@ 5.5D THR A
®9.5C/B DP5. 4
el - mm
=40 253 ofer £E23 7lc H= J|=2HAHEE N
u N - cm EolSE 24t b= =84ols Ca |88 4ol& Coa
15~ 78 3600 5400
0.045 +0.020 0.018
- 4700 8100
15~ 78 3600 5400
0.055 +0.023 0.018
- 4700 8100
15~ 7.8 3600 5400
0.060 +0.025 0.020
- 4700 8100
15~ 78 3600 5400
0.075 +0.027 0.020
- 4700 8100
.
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~ 1 N
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ol \CO. 3
L15 ]
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10. 158
[ o005 [F
LI 15 40 20
25 L2 80
L3
- e/ EXCIST3 LIAF = 20|
= OLIAL S S B S3S AE
= LA 2d SejofgiA sls | Zelojga | 25T [T © I3
BS2005AC—C57—294R399 Ch/7Z 0
200 294 314 399 —
BS2005AC—C5T—294R399 C5/T 0.005LLF
BS2005AC—C57—394R499 Ch/7Z 0
300 394 414 499 | —
BS2005AC—-C5T—394R499 C5/T 0.005LLF
BS2005AC—C57—494R599 Ch/7Z 0
400 494 514 599 ——
BS2005AC—-C5T—494R599 C5/T 0.005LL°F
BS2005AC—-C57—-594R699 C5/7 0
500 594 614 699 —
BS2005AC—C5T—594R699 C5/T 0.005LL°F
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Mo X 1.0
(0il hole)

20 J0e Tl mm
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g:j y ’;>§382X2/f” L‘f’kr eRe] ;EE
o ’ ‘ Ol 2 &4 QEHAIO|=
U S g A S g
N NV = X|2 / BCD 3.175/20.5
@%) A 5 B2 72
' . =254 2.5%1
44 £0| @3ir(12/A) | MULTEMP LRL3
4-®5.5D THR
©9.5C/B DP5. 4
e o mm
=40 252 o E23 7lc H= J|=2HAHEE N
u N - cm EolSE 24t b= =84ols Ca |88 4ol& Coa
2.0~ 6.9 5200 8650
0.055 +0.023 0.018
- 8200 17300
2.0~ 6.9 5200 8650
0.060 +0.025 0.020
- 8200 17300
20~ 69 5200 8650
0.075 +0.027 0.020
- 8200 17300
2.0~ 6.9 5200 8650
0.090 +0.030 0.023
- 8200 17300
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] ?@ N4
Co.5 0.5 C0. 5
- \co 3 .
1 1550‘4 777777 =
10, 158
M o5 IF
15 10 20
25 L2 60
13
- Mg/ e LIAL = 20|
= LA 2 Zajoj2A 7|5 | 2alojpa | BERT [T © 3
BS2010AC—C5Z—391R499 Ch/7Z 0 300 391 m 499
BS2010AC—-C5T—391R499 Ch5/T 0.005LLF
BS2010AC—C57—-491R599 Ch/7 0 400 491 514 509
BS2010AC—C5T—491R599 C5/T 0.005LLF
BS2010AC—-C57—-591R699 C5/7 0 500 501 514 699
BS2010AC—C5T—-591R699 C5/T 0.005LLF
BS2010AC—C5Z—691R799 Ch/7 0 600 601 714 299
BS2010AC—-ChT—-691R799 C5/T 0.005LLF
BS2010AC—-C5Z—-791R899 C5/7 0 200 701 814 899
BS2010AC—-C5T—791R899 Ch5/T 0.005LLF
BS2010AC—C57—891R999 Ch/7 0 800 501 914 999
BS2010AC—C5T—891R999 C5/T 0.005LLF
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MEX 1.0

(Oil hole) 300 300 H—?—| - mm
éw ETIYNEY
. =3 20
A@/\%\» 2= 10
RS = gggg =
< N LEAF Bt 5
© | : Oof 2 A QHALO|=
S SR EEEN
XY = X|Z / BCD 3.969/21.0
@ Q % LA & 2 16.9
/ / P ¥ PEEES 25X
EQ 8&HM(ae]A) | MULTEMP LRL3
4-6.6D THR
®11C/B DP6B.D
e o mm
ZAlo| 53 o E23 == sl 71284sts N
u N - cm HHEO|SE Xt HE S™AstE Ca [H™Hs5tE Coa
2.0 ~ 11.8 7000 10850
0.060 +0.025 0.020
- 10900 21700
2.0 ~ 1.8 7000 10850
0.075 +0.027 0.020
- 10900 21700
2.0 ~ 118 7000 10850
0.090 +0.030 0.023
- 10900 21700
2.0 ~ 11.8 7000 10850
0.090 +0.035 0.025
— 10900 21700
2.0 ~ 11.8 7000 10850
0.120 +0.035 0.025
- 10900 21700
2.0 ~ 11.8 7000 10850
0.120 +0.040 0.027
— 10900 21700
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BALLSCREW
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HEEINOE S0 ANME
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B 55 15 s
‘S ; RO, 2 S = Ro.2 D| MI5X1.0 %
1
hd
0.5 N 0.5 0.5
-~ 0.3 .
1ot =
10158
Mo TF
L1 15 40 20
25 L2 60
L3
- e/ Zdt5k LIAL = Z0]

S LA 3 22024 75 | Zalopia | SERE T > I3
BS2020AA—C5/7/—412R520 Ch/7 0 300 410 435 520
BS2020AA—CH5T—412R520 Ch5/T 0.005LLF
BS2020AA—C57—512R620 Ch/7 0 400 51 535 620
BS2020AA—C5T—512R620 C5/T 0.005LLF
BS2020AA—C57—612R720 Ch5/7 0 500 512 635 290
BS2020AA—C5T—612R720 C5/T 0.005LLF
BS2020AA—C57—712R820 Ch/7 0 600 71 735 800
BS2020AA—-CH5T—712R820 C5/T 0.005LLF
BS2020AA—C57/—812R920 Ch5/7 0 200 812 835 920
BS2020AA—C5T—812R920 Ch5/T 0.005LLF
BS2020AA—C57—912R1020 Ch/7 0 800 912 935 1020
BS2020AA—C5T—912R1020 Ch5/T 0.005LLF
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MBEX 1.0

(Oil hole) |:f0| Cmm
=LHAF AR
=38 20
2= 20
< LEA} 3t &
© of 2f g4 QHALO[=
- &8 oAl S Al
= X|& / BCD 3.969/21.0
LA & 24 16.9
e el 1.5X1
£ ®exl(a2/A) | MULTEMP LRL3
1-P6.6D THR
O 11C/B DP6.5
SR o mm
ENEEEE olef E23 PlE e |2HZAGIE N
U N - cm HEO|=2F @K} He= EXZASE Ca |HEASIE Coa
2.0 ~ 1.8 5400 8400
0.075 +0.027 0.020
- 7050 12600
2.0 ~ 1.8 5400 8400
0.075 +0.030 0.023
- 7050 12600
20 ~ 1.8 5400 8400
0.090 +0.030 0.023
- 7050 12600
2.0 ~ 1.8 5400 8400
0.120 +0.035 0.025
- 7050 12600
2.0 ~ 1.8 5400 8400
0.120 +0.035 0.025
- 7050 12600
20 ~ 1.8 5400 8400
0.150 +0.040 0.027
- 7050 12600
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HENOE ST 2ALE
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-
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£0.5 [Z7w I Co. 3 05 C0.5
- _ ‘
C0. 3 pL3ser Hik =10
15. 358"
[L] 0.005 [F [ 0.005 |
L1 5 20 53 27
31 Le 80
L3
- e/ EXCIST3 LIAF = 20|
2 LIAF S = _ << AEEZ
A Sajojzis 715 | 2ajofaia = E 2 | L3
BS2505AC—-C57—-315R451 Ch/7 0
200 315 340 451
BS2505AC—-C5T—315R451 C5/T 0.005LLF
BS2505AC—-C57—415R551 C5/7 0
300 415 440 551
BS2505AC—-C5T—415R551 C5/T 0.005LLF
BS2505AC—-C57—-515R651 C5/Z 0
400 515 540 651
BS2505AC—-C5T—-515R651 Co/T 0.005LLF
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MBEX 1.0

{Oil hole) Tl - mm
. 45, BN
=4 25
N 2= 5
A 1 @) LHA 53 5
= { poB0 ollg A EXES
R ‘. &3 A S5 g4
/K £ 1|5 / BCD 3.175/25.5
@ 7@4 LIAt = =2 22.2
= 2ts| 2.5x1
o/ £9 &x|(22/A) | MULTEMP LRL3

4-®6.6D THR
®11C/B DP6.5 AN

Series

el - mm
ZA0o| EEE ol E=23 2E H: 7|1284dstE N
u N - cm HHEO|SE Xt HE S™AstE Ca [H™Hs5tE Coa
2.0 ~ 1.8 5700 10900
0.050 +0.023 0.018
- 9100 21800
2.0 ~ 118 5700 10900
0.060 +0.027 0.020
— 9100 21800
2.0 ~ 1.8 5700 10900
0.070 +0.030 0.023
— 9100 21800

l-Z-K-B-A-L-L-8-C-R-E-wW 157



BALLSCREW

Z K

T X II <L A XX
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- _ 65 &
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e 3 RO.2 1§ © RO.2 S| meoxio @
5l
£0.5 ?Q A I N oo 5 | \0-B
.
0.3 | " 1 Q| L16 |
15. 358"
[ o5 [F
L1 20 53 27
31 L2 80
L3
- e/ Zdt5k LIAL = Z0]
= LA 2 Zajoj2A 7|5 | 2alojpa | BERT [T © L3
BS2510AC—C5h/—412R551 Ch/7 0 300 410 440 551
BS2510AC—-C5T—412R551 Ch5/T 0.005LLF
BS2510AC—-C5Z—612R751 Ch/7 0 500 810 640 751
BS2510AC—-C5T—612R751 C5/T 0.005LLF
BS2510AC—-C5Z—712R851 Ch5/7 0 500 71 740 851
BS2510AC—-C5T—712R851 C5/T 0.005LLF
BS2510AC—-C5Z—912R1051 Ch/7 0 800 912 940 1051
BS2510AC—-C5T—912R1051 C5/T 0.005LLF
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MEX 1.0

il hole) .\ 30" 30° £Hol - mm
w ETR;
, =7 25
‘@' g ‘\ o = 10
% //// — \;\y L‘|-A|> ‘:(ID}-(%DF E
o L I HALO|=
= 3 &8 9| S 9
N\ = X|Z / BCD 3.969/26.0
o LIAF = =24 21.9
N \>\§€ 25154 2.5x1
/ - £0| 23 H(22/A) | MULTEMP LRL3
/47 ®39D THR
®14C/B DPB.6 JAN
Series
el - mm
=4Ho| SE2 ol E23 == sl 71284sts N
u N - cm H2O|sE 2AF b= S845ts Ca | H84sHE Coa
2.4 ~ 137 7800 13500
0.060 +0.027 0.020
- 12300 26500
2.4 ~ 137 7800 13500
0.070 +0.030 0.023
— 12300 26500
2.4 ~ 137 7800 13500
0.085 +0.035 0.025
— 12300 26500
2.4 ~ 137 7800 13500
0.100 +0.040 0.027
— 12300 26500
—
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EEIDE ST ANE
2290 35
_ 70 &
ﬁ 55 15 S
E 3 o2 8 - R0.2 3 woxio %
[ A Y 0.5
C0.5 CO0.3 C0. 5
M 1 3560 14 & ﬁ)
15358 moemTa
Mo [r
L1 20 53 27
31 L2 80
L3
; Mg/ =u}5 LIAL = 20|
04 (@) O o
= LAt g 2aj0fA 7|2 | ZEoEa | 2R T e &
BS2520AA—C57—612R751 C5/7 0 0 oo o0 .
BS2520AA-C5T—612R751 C5/T 0.005LL F
BS2520AA-C57—712R851 C5/Z 0 - - 0 "
BS2520AA—C5T—712R851 C5/T 0.005LLF
BS2520AA—C57—-912R1051 C5/7 0 - oo o | 1051
BS2520AA-C5T-912R1051 C5/T 0.0055L F
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MBX 1.0
(Ol hole) 30 J0° crof -
w SLRAL Atk
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\NES7 (Y = 20
=3 B Pt LpAL 2t 5
o il ~, oll e Al QA0
o / &3 2 S8 Y4
N \ \ £ XIE / BCD 3.969/26.0
\ ()% LA = 22 219
N \\>x%\ PSS 15x1
/ 55 £0| Q&tx|(122/A) | MULTEMP LRL3
/4*@ 9D THR
©14C/B_DPB. 6 YA
Series
el - mm
49 =58 ol E23 2E = 71284sts N
u N - cm CHEOISE 2%t HS S8HotE Ca |8 AsHE Coa
2.4 ~ 137 4950 8050
0.070 +0.030 0.023
- 7900 16100
2.4 ~ 137 4950 8050
0.085 +0.035 0.025
— 7900 16100
2.4 ~ 137 4950 8050
0.100 +0.040 0.027
- 7900 16100
B-A-L-L-S -
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BS0812C—-C5hT—-154R205 100 154 166 205
BS0812C—-C5T—204R255 150 204 216 255
BS0812C—-C5T—254R305 C5/T 0.005LLF 200 2b4 266 305
BS0812C—C5T—304R355 250 304 316 355
BS0812C—C5T—354R405 300 354 366 405
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0.075 +0.023 0.018
0.075 +0.025 0.020
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BS1015C—-ChT—158R220 100 158 174 220
BS1015C—-C5T—208R270 150 208 224 270
BS1015C—-C5T—258R320 o5/T 0.0085LF 200 258 274 320
BS1015C—-C5T—308R370 ' 250 308 324 370
BS1015C—-C5T—358R420 300 358 374 420
BS1015C—-C5T—-408R470 350 408 424 470
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0.055 +0.020 0.018
0.055 +0.023 0.018
0.065 +0.023 0.018
— 3300 6400
0.065 +0.023 0.018
0.080 +0.025 0.020
0.080 +0.027 0.020
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BS1520C—-C5Z7—239R321 Ch/7 0
150 239 254 321 —
BS1520C—C5T—239R321 C5/T 0.005LLF
BS1520C—-C57—289R371 Ch/7Z 0
200 289 304 3711 —
BS1520C—-C5T—289R371 C5/T 0.005LLF
BS1520C—-C57—339R421 Ch5/7 0
250 339 354 421 —
BS1520C—C5T—339R421 C5/T 0.005LLF
BS1520C—-ChZ7—389R471 Ch/7 0
300 389 404 471 —
BS1520C—-ChT—389R471 C5/T 0.005LLF
BS1520C—-C5Z—-439R521 Ch5/7 0
350 439 454 521 —
BS1520C—C5T—439R521 Ch5/T 0.005LLF
BS1520C—C5Z7—489R571 Ch/7 0
400 489 504 5711 —
BS1520C—-C5T—-489R571 C5/T 0.005LLF
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— 0.055 +0.023 0.018
— 8000 15800
2.0~8.8 5100 7900
— 0.055 +0.023 0.018
— 8000 15800
2.0~8.8 5100 7900
— 0.060 +0.025 0.020
— 8000 15800
2.0~8.8 5100 7900
— 0.060 +0.025 0.020
— 8000 15800
20~8.8 5100 7900
— 0.075 +0.027 0.020
— 8000 15800
2.0~8.8 5100 7900
— 0.075 +0.027 0.020
— 8000 15800
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BS1520C—-C5Z—-539R621 Ch/7 0
450 539 5h4 621 —
BS1520C—-C5T—539R621 C5/T 0.005LLF
BS1520C—C5Z7—589R671 Ch/7 0
500 589 604 671 —
BS1520C—-C5T—589R671 C5/T 0.005LLF
BS1520C—-ChZ—-639R721 C5/7 0
550 639 654 721 —
BS1520C—-ChT—-639R721 C5/T 0.005LLF
BS1520C—-ChZ—689R771 Ch/7 0
600 689 704 771 —
BS1520C—-C5T—-689R771 C5/T 0.005LLF
BS1520C—-C5Z—789R871 Ch/7 0
700 789 804 871
BS1520C—-C5T—789R871 Ch5/T 0.005LLF
BS1520C—-C57—889R971 Ch/7 0
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BS1520C—-C5T—889R971 C5/T 0.005LLF
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— 0.075 +0.030 0.023
— 8000 15800
2.0~8.8 5100 7900
— 0.090 +0.030 0.023
— 8000 15800
2.0~8.8 5100 7900
— 0.090 +0.035 0.025
— 8000 15800
2.0~8.8 5100 7900
— 0.090 +0.035 0.025
— 8000 15800
2.0~8.8 5100 7900
— 0.120 +0.035 0.025
— 8000 15800
2.0~8.8 5100 7900
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— 8000 15800
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FAY s2lofziA 73| Z2loEa = X 2 3
BS1005E—-C3Z7—-112R171 C3/7z
50 112 125 171
BS1005E—C5Z—112R171 Ch/7
BS1005E—C37—-162R221 C3/7
100 162 175 221
BS1005E—-ChZ—-162R221 C5/7
BS1005E—-C37—262R321 C3/7
0 200 262 275 321
BS1005E-C57—262R321 Ch/7
BS1005E—-C37—-362R421 C3/7
300 362 375 421
BS1005E—-C5Z—362R421 Ch5/7
BS1005E—-C37—-462R521 C3/z
400 462 475 521
BS1005E—-C57—-462R521 Ch/7
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u N - cm H2O|sE 2AF b= S845ts Ca | H84sHE Coa
0.035 +0.010 0.008
0.040 +0.020 0.018
0.040 +0.010 0.008
0.055 +0.020 0.018
0.050 +0.012 0.008
0.5~3.9 2950 4800
0.065 +0.023 0.018
0.065 +0.013 0.010
0.080 +0.025 0.020
0.070 +0.015 0.010
0.090 +0.027 0.020
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BS1010E—-C3Z2—-162R221 C3/z
100 162 175 221 —
BS1010E-ChZ—-162R221 Ch/7
BS1010E-C37—-262R321 C3/7
200 262 275 321 —
BS1010E—-C5Z—262R321 Ch5/7 0
BS1010E—-C3Z7—362R421 C3/7
300 362 375 21
BS1010E—-C5Z7—-362R421 Ch/7
BS1010E-C3Z—-462R521 C3/7
400 462 475 521 E—
BS1010E—-ChZ—-462R521 Ch5/7
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0.040 +0.010 0.008
0.055 +0.020 0.018
0.050 +0.012 0.008
0.065 +0.023 0.018
0.5~3.9 1950 3000
0.065 +0.013 0.010
0.080 +0.025 0.020
0.070 +0.015 0.010
0.090 +0.027 0.020
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BS1205E-C37—110R171 C3/z 50 o 105 171
BS1205E—-C57—110R171 C5/7
BS1205E-C37-160R221 C3/7 100 160 75 oot
BS1205E-C57-160R221 Ch/7
BS1205E—-C37—260R321 C3/z 200 260 275 301
BS1205E-C57—-260R321 C5/7 0
BS1205E-C3Z—360R421 C3/7 300 360 975 421
BS1205E-C57—-360R421 C5/7
BS1205E-C37—-460R521 C3/z 400 460 475 501
BS1205E-C57—-460R521 C5/7
BS1205E-C37-560R621 C3/z 500 560 575 621
BS1205E-C57—-560R621 C5/7
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-4 5D-THR
®8C/B DP4.5
= mm
49 =58 ol E23 2E = 71284sts N
u N - cm CHEOISE 2%t HS S8HotE Ca |8 AsHE Coa
0.035 +0.010 0.008
0.040 +0.020 0.018
0.040 +0.010 0.008
0.055 +0.020 0.018
0.050 +0.012 0.008
0.065 +0.023 0.018
1.0~4.4 3200 5850
0.065 +0.013 0.010
0.080 +0.025 0.020
0.070 +0.015 0.010
0.090 +0,027 0.020
0.070 +0.016 0.012
0.090 +0.030 0.023
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9 L2 37
L3
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= LA 2d ZzjofaA 7z | ZaloEa | SEFE T E e
BS1210E-C37—-160R221 C3/z 100 60 75 oo
BS1210E-C5Z—160R221 Ch/7
BS1210E-C37—260R321 C3/z 200 260 075 o
BS1210E—C57—260R321 Ch/Z
BS1210E—C3Z—-360R421 C3/Z 0 200 260 375 101
BS1210E—C5Z—360R421 Ch/7Z
BS1210E—C3Z—460R521 C3/Z 100 460 475 o
BS1210E—C5Z—460R521 Ch/7Z
BS1210E—C37—-560R621 C3/z 00 50 - 61
BS1210E-C5Z—560R621 Ch/7
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0.055 +0.020 0.018
0.050 +0.012 0.008
0.065 +0.023 0.018
0.065 +0.013 0.010
1.0~4.4 3200 5850
0.080 +0.025 0.020
0.070 +0.015 0.010
0.090 +0.027 0.020
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BS1220E—C37—208R271 C3/Z 00 o8 o -
BS1220E—C57-208R271 C5/Z
BS1220E-C37-308R371 C3/z 00 205 - -
BS1220E—C57-308R371 C5/7
BS1220E—C3Z7—-408R471 C3/7 0 300 408 425 A7
BS1220E—-C5Z7—-408R471 Ch/7
BS1220E—-C3Z—-508R571 C3/7 400 508 505 571
BS1220E—-C57—-508R571 Ch5/7
BS1220E-C3Z—608R671 C3/z 500 508 625 671
BS1220E-C5Z—608R671 Ch/7

186



20 30° £l mm
w S AT
N 57 2
R <© L COOJ& = 20
~ Sl }j/ LA e 5
i oflet ] IPUVES
9 L8 oI CIZHE g
- = x|E / BCD 2.000/12.3
/)\y« LiAt = = 10.2
P 1.7x1
£ 2Ex(TzlA) MULTEMP PS2
A-O4. HD-THR
®BC/B DP4.5
= mm
oo =58 o E23 2= S 72845t N
u N - cm H2O|sE 2AF b= S845ts Ca | H84sHE Coa
0.040 +0.012 0.008
0.055 +0,023 0.018
0.050 +0.012 0.008
0.065 +0.023 0.018
0.065 +0.015 0.010
1.0~4.4 2150 3600
0.080 +0.027 0.020
0.070 +0.016 0.012
0.090 +0.030 0.023
0.080 +0.016 0.012
0.110 +0.030 0.023
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BS1505E-C37—139R211 C3/z
50 139 154 21
BS1505E-C57—139R211 C5/7
BS1505E-C37—-189R261 C3/z
100 189 204 261
BS1505E—-C57—189R261 Ch/Z
BS1505E-C37—289R361 C3/7Z
200 289 304 361
BS1505E—-C57—289R361 Ch/7Z
BS1505E—-C37—389R461 C3/Z
300 389 404 461
BS1505E—-C57—389R461 Ch/7Z
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BS1210AC—C5T—395R455—UN C5/T 0.0055LF 395 455
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MEX 1. 0
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0.100 0= Q% +0.05/300
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0.090 +0.030 0.023
0.150 0= Q% +0.05/300
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BS1505AC—C75-390R450—-UN C7/S 0.020LL°F
BS1505AC-C5T-540R600—UN C5/T 0.005LLF 540 600
BS1505AC-C75-540R600—-UN C7/S 0.020LLF
BS1505AC—-C5T—-840R900—UN C5/T 0.005LLF 840 900
BS1505AC—C75-840R900—UN C7/S 0.020LL K
BS1505AC-C5T—-1040R1100—-UN C5/T 0.005LLF 1040 1100
BS1505AC-C75-1040R1100—-UN C7/S 0.020LLF
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0.095 0|52 X} +0.05/300
0.075 +0.030 0.023
0.110 0|=2QA} +0.05/300
7100 12800
0.120 +0.040 0.027
0.170 0|=Z QX +0.05/300
0.150 +0.046 0.030
0.210 0|SZQA +0.05/300
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0.060 +0.025 0.020
0.095 0l=2 2% +0.05/300
0.075 +0.030 0.023
0.110 0l=2F Q% +0.05/300
7100 12800
0.120 +0.040 | 0.027
0.170 0|Z2k2 %t +0.05/300
0.150 +0.046 0.030
0.210 0l=2EQ A +0.05/300
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BS1520AA—C7S—390R450—UN C7/S 0.020LLF
BS1520AA—C5T—540R600—UN C5/T 0.005LLF i 500
BS1520AA—C7S—540R600—-UN C7/S 0.020LLF
BS1520AA—C5T—840R900—-UN C5/T 0.005LLF 810 900
BS1520AA—C7S-840R900—UN C7/s 0.0208L F
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0.075 +0.030 0.023
0.110 0|=2:Q % +0.05/300
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0.170 0l=Z %t +0.05/300
0.150 +0.046 | 0.030
0.210 0|=2 QX +0.05/300
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0.150 +0.046 0.030
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MEX 1.0
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MEX 1.0
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0.130 0|=2Q A} +0.05/300
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-7 K-B-A-L-L-s-C-R-E-W 269



BALLSCREW

Z K

- X I =L 11X
HENOE ST OPVIEE
C5:0. 018
© C7:0.030 A
85
= 50 15
© 9]
i i3 i
od = LO
a [@N]
=
@7% %
[G]
I I
cs:0.013) | |
+ C7:0.018 6
18
L 108
E
o L sl e/ e LIAR = 20|
= LA 3 Za)0je1A 7z | 22ojiA T e
BS2510AC—C5T—492R600—UN Ccs/T 0.0055LF - “o0
BS2510AC—C7S—492R600—UN c7/S 0.0205LF
BS2510AC—C5T—792RI00—UN Cs/T 0.0055LF . .
BS2510AC—C7S—792RI00—UN c7/S 0.0205LF
BS2510AC—C5T—992R1100—UN C5/T 0.0055LF - 00
BS2510AC—C7S—992R1100—UN C7/S 0.0205LF

270




MBEX 1.0
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0.150 0|=24Q%} +0.05/300
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MEX 1.0
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0.060 +0.027 0.020
0.090 OIS +0.05/300

0.085 +0.035 \ 0.025
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0.130 012t +0.05/300
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0.150 0|22t +0.05/300
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